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I. Please explain the following term: (18%)

(A)IDLH (B) NOAEL (C) Fit factor (D)BEI (E)STEL (F) capture velocity

In industrial ventilation, does fume or industrial dust require a higher transport velocity? (5%) What is
the reason? (5%)

According to the first fan law, what do we have to do in order to increase the airflow in the duct by a
factor of 27 (10%)

Please describe the differences between quantitative and qualitative test fitting for respirators. (5%)
What is the difference between a fit test (% -6~ 7] 3X) and a seal check (% 4-#& 2)? (5%)

Why is asbestos dangerous to the human health? (6%) Please give two examples of industries that

used asbestos? (4%)
Please list two engineering control methods for heat stress? (10%)

How does the temperature and test material thickness affect the breakthrough time of the chemical

during the test for resistance of protective clothing material to permeating by liquids or gases? (10%)
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We have 100 ml of 95 % ethanol that is used for disinfection, how do we dilute it into 75 % ethanol?
(10%)




